[ Efficiency vs vertpos |

= 0.0%
$.009
)
9.008
(&)
$.007
_U
.006
0.005
0.004
0.003
0.002
0.001]

Ratio

Efficiend e — %g
~ 0.0
9.009
[2]
9.008
oy
$.007
‘©
§0.006
[}
0.005
0.004
0.003
0.002

0.001

QE

Ratio

.................................................

.................................................

.................................................

1072 107 1

10 0?
TP vertr (cr%)

UUUUL}

[Sejeieele

cC

H

I

t

g

a,
a.
a
a

R

0.5

-30 -20 -10 0 10 20 30

TP vert z (cm)

[ Efficiency vs. sim PV z |

~ 0.0

>
£0.009
B.008
9.007
>
B.006
R
$#.005
(]
0.004
0.003
0.002

Y17 R SO MRS NI MO
q_.'..'..'..i..'..!..'..i..'..'..'..i..'..!..'..i..'..'..'....'..'...'.

Ratio

0.5

%0 =40 =20 0 20 40 60

Sim. PV z (cm)

tito1600 4
T STReTHGG e
lemplale uare,
lemplae! I uarela—sie
fempilaie | uaregl—sie
emplate! | uare3u—ste




	Contents
	Page 1


